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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 What is the fiscal deficit?

A The sum of the budgetary deficit and the market debt and liabilities of the government
B Total loss in the production of all items

(o} Revenue Expenditure-Revenue Receipt

D Total Expenditure - Total Receipt

Q.No: 2 Which of the following personality was not awarded the Nobel Prize in 20227

A Alain Aspect

B John F. Clauser

C Anton Zeilinger

D Pranab Mukherjee

Q.No: 3 In which year the Dhuty dam was built under the supervision of Sir George Moss Harriot?

A 1923
B 1921
C 1920
D 1922

Q.No: 4 Which of the following kings defeated the Hunas in 528 AD?
A Yashodharman of Malwa
Paramara king Raja Bhoj

Harsha of Thaneswar

o o0 w

Emperor Ashoka

Q.No: 5 The General Agreement on Tariffs and Trade (GATT) was signed on October 30, 1947, by how
77T many countries?

30

27

25

o 0w »

23

No: 6 In honour of which Maratha general did Maharani Ahilya Bai Holkar erect the Chhatri at
Q.No: Alampur?

Malhar Rao Holkar
Tukoji Rao Holkar

Khande Rao Holkar

O 0O >

Tukoji Rao Holkar III

Q.No: 7 Who among the following was recently awarded the International Booker Prize 20237
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Rusking Bond
J.K.Rowling

Nicholas Sparks

o 0O @ >

Georgi Gospodinov and Angela Rodel

Q.No: 8 The meaning of 'S’ in UNESCO is-

A Scientific
B South
[ Social
D Space

Q.No: 9 Which among the following is true about saline soils?

A Rich in Calcium

B Good for cultivation
C Rich in Humus

D They are like infertile

Q.No: 10 The MP Kamgar Setu Portal has been operated for the welfare of -

A Street-vendors

B Factory-workers

C All labourers

D Agricultural workers
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The Industrial (Development and Regulation) Act was enacted for the purpose of registration and 3@ (e SR fafaw) sfifam YRa & S & doieror SR e &

According to census 2011, which district of India has the Highest Sex Ratio in India per 1000

Q.No: 11 development of industries in India in
A 2000

B 1956

C 1951

D 1948

Q.No: 12 FRBM Bill was introduced in the year by the finance minister Yashwant Sinha.
A 2000

B 2005

[o} 2006

D 2004

Q.No: 13 males?

A Ratnagiri, Maharashtra

B Almora, Uttarakhand

C Mahe, Puducherry

D Kannur, Kerala

Q:No: 14 of India?

A Param Vir Chakra

B Kirti Chakra

C Maha Vir Chakra

D Shaurya Chakra

Q.No: 15 What is the rank of India's economy on the basis of purchasing power parity or PPP?

Which of the following awards was established as the ‘Ashoka Chakra, Class III’ by the President

siftfafir fasar mar am
2000
1956
1951
1948

FRBM ol af _ & fo w5 awida e g O s mam
2000
2005
2006
2004

2011 B SFUMT & SR, YRd & 59 ford & ufy 1000 G99 R YRA & 9ad o
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Q.No: 16

o 0O w

Q.No: 17

o 0w

.No: 18

.No: 19

Q.No: 20

o 0 w

Q.No: 21

o 0 w

Q.No: 22

o 0O w

Q.No: 23

Second
Fifteenth
Seventh

Third

Which Marathi writer has received Saraswati Samman for his book Sanatan?

Varur Shridhar
Sharan Kumar Limbale
Ranganath Pathare

Kamal Tyagi

What is the commercial cultivation of vegetables called ?
Sericulture
Olericulture
Silviculture

Pomiculture

argued that industrial society was ‘capitalist’,
Aristotle
Socrates
Robert Owen

Karl Marx

Among which of the following armies, the battle of Waterloo was fought?

Napoleon’s French army and British army
British army and Russian army
Swedish army and Russian army

Spanish army and French army

Which of the following cities was once the capital of Mughal kingdom?
Burhanpur

Indore

Bhopal

Gwalior

The ability to do work is defined as what?
Force

Pressure

Energy

Sound

Pyrenoids are present in?
Green algae

Only Tissue

Only Pomegranate

Bryophyta

Who is the inventor of the radio?
Guglielmo Marconi
Hans Lippershey

Benjamin Franklin
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Q.No: 24

Q.No: 25
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Q.No: 26

o 0w

Q.No: 27

O 0O @

Q.No: 28

o 0O w

Q.No: 29

o 0 w

Q.No: 30

o 0O w

Q.No: 31

eY

Zacharias Janssen

World Heart Day is celebrated on-
20t September

12t September
30t September
28% September

usually have a rigid cell wall made of an inner layer of cellulose and an outer
layer of pectose.

Red algae
White algae
Black algae

Green algae

factors are the natural calamities or disasters caused due to natural changes.
Man made
Natural
Mining

Overgrazing

What is the study of flowers called?
Agrostology

phenology

Paleontology

Floriculture

Which one of the following is a green algae?
Laminaria

Chlorophyta

Fucus

Chlamydomonas

Mosquitoes lay eggs in places.

hole
darksome
hygienic

waterlogged

Which of the following stops the rainwater from flowing away and also reduces soil erosion?

canals
wells
check-dams

river lift systems

The pteridophytes are classified into how many classes?
Twenty
Thirteen

Eight
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Directions: The following question consists of two statements one labeled as “Assertion” and

the other as “Reason”. You have to examine these two statements carefully and select the e Fafred ny & 3§ o7 ¢ o 3 0o o1 "sft@ua iR R &1 "SR B3
correct answer to the question from the given options. YD 37 1 FY Bl FraYHIIES S ST 7 STR U M fawedi & & uy &1 98
Q.No: 32
Assertion (A): Save water, be vegetarian, don't spoil soil, run in relation to environmental G (A) : T 137, MHIRRT a1, ALY B WG A H, TR0 TR & fan
conservation- FRU (R) : T W 3 7t § 1 $o o7 0 8 § S A0 27 BT I T HeeAl Al
Reason (R): We all should not try to give back what we are taking from the Earth.
A Both A and R are false T R SR T e &
B Both A and R are true qeﬁ?smaﬁfw%'
[of A is true, but R is false. EW% AP IR e %l
D A is false, but R is true. T 3™ 2 afp amR g 81
Q.No: 33 Full form of FCI is . FCI 1 5d w1 H
A Foodstuff corporation of India. YR @rer verd
B Food Corporation of India. YRdtg @ A
C Food consumption of India. YRGB @ G
D Food Control of India. YRA 1 @ g
Q.No: 34 Which of the following chemicals does not have a place in the kitchen or at home? Faffea # ¥ fow T o WE a1 R § v 91 e
A Hydrochloric acid m@ﬂﬁa? uwRrs
B Sodium carbonate Sifeas sEe
C Calcium Chloro Hypochlorite %@ma@ﬁmﬂm
D Caustic soda RF HigT
Q.No: 35 The energy used in one hour at the rate of 1kW is known as ————- 1KW $1 &R § TP He & SN 3T 91 arefl Sl Y % =Y H SHE WG
A 10 kWh 10 kWh
B 1kW/h 1 kW/h
C 1w 1w
D 1 kWh 1 kWh
How many squares are there in the following figure? Frafofad smefa & fvam @t §2
] ] ] ]
Q.No: 36
[ [ ] [ ||
A 50 50
B 28 28
c 34 34
D a4 44
Select the letter-cluster that is related to the third letter-cluster in the same way as the I HeR-TIE PT T0H Y ol 1R 31eR-TE § I TR Haiftrd oI qarT are
Q.No: 37 second letter-cluster is related to the first letter-cluster. et B
EGIK : FILO :: FHIL : ? EGIK : FILO :: FHIL : ?
A GIMP GIMP
B GMIP GMIP
C JGMP JGMP
D JGPM JGPM
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Q.No: 38

>
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Q.No: 39

o 0O w >

Q.No: 40

O 0O w

Q.No: 41

o 0O «w >

Q.No: 42

o 0O o

Q.No: 43

o 0O v >

Identify the diagram that best represents the relation between Whole Number, Rational

Number and Irrational Number?

© O

©

What should come in place of question mark (?) in the following question?

PNT : RKX :: ? : FEO
DLK
DHI
DHJ
DHK

Choose the numbers which is different from others in the group?
6,12, 18

4,8, 16

3,6,12

1,2, 4

Find the Number of triangles in the figure.

P

\1

o o un N

Choose the numbers which is different from others in the group?
2-5

13-15

5-7

7-9

Find the missing term in the following series.
MVPP, NUSS, OTVV, PSYY, ?

QRXX

QRBB

QRzZ

Qvzz
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PNT : RKX :: ? : FEO

DLK

DHI

DHJ

DHK

o U g # & faww dEm &1 997 B
6,12, 18

4,8, 16

3,6,12

1,24
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2-5
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Q.No: 44

o 060 m >

Q.No: 45

o 0O @ »

Q.No: 46

o 0O w >

Q.No: 47

o 0 & >

Q.No: 48

O 0O o >

Q.No: 49

Which is the wrong term in the following series?
5, 24, 65, 122, 213

122

24

65

213

Which of the following is definitely false according to the given equation?
D=B=2QsX=F=sJ=A

J>X

D=Q

D=B

I=X

Which of the following is definitely false according to the given equation?
F=0=W<Q=>R>M=B

None of the given options

Q=M

Q>F
B<Q

Identify the class that best represents the Venn-diagram.

@

Doctors, Professors, Man
Remote, button, T.V.
Professors, Post-graduates, Employed

Infant, living being, trees

How many quadrilaterals are there in the following figures?

o O N U
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FofafeT s@en § $F-91 ug Tad 37
5, 24, 65, 122, 213

122

24

65

213

fow v e % srerR Pafufea # 3 o o A w9 3 s 7
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J>X
D=Q

fau MU witeR & orER Pufaaa # € s W1 Biia 9 9 e 2
F<0=W<Q=R>=M=>B

fg g Rt & & S T

Q=M
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B<Q
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A 0 N U

IR WY W d & Smufy oof B o1 gt §1 o g Smufy gt Y B o Wb

If the mirror is placed on the line, then which of the answer figure is the right mirror image of

the given figure?

A

@

I w0 BT gWE TE a1 W 1 9, A § T Fpew st § F FH-I0 W
A
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Find the number of triangles in the given figure. 39 opia B Ruye ot ¥. 1 BT

o 0O w >

Q.No: 51

o 0O @

Q.No: 52

O 0O @ »

Q.No: 53

5 5

7 7

a 4

6 6

Find the odd word/letters/ number from the given alternatives. fw e fawedt F ¥ favy wrsg/eerl/ e & ghwl
4, 46 4,46

6, 612 6, 612

5, 521 5, 521

7, 543 7, 543

In the following question, a certain series of numbers or letters is given of which one series is Frafafaa vy &, demnsht a1 sieri ot v P g § 1 8, R 9§ e gEan
empty. You have to decide which of the alternative series of the answer will be used in the blank 3 % 7@ &0 3 39 4@a & 3HH 4 Jofd Rad RIF # IR & $H 4 ik

space that is originally related to the sequence of that series. S

A, 4,C 9,7 14,G, 19 A, 4,C 9,7 14,G, 19
D D

F F

H H

E E

A figure analogy is given below. Understand the logic behind it and complete the analogy for F4
the next figure.

<>@ 9 @:@:: ?
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Select the next figure in the following figure series? Frofafed srefa s o st snpfa &1 797 X2

Q.No: 54

In the following question, a statement followed by two conclusions is given. You have to select a
conclusion that follows the statement.

e U ¥, Ut By SR @R 3T A @ fse feu e B Ut e

T FT IR0 el Bl

Statement: FYA: G FT BIS HAST TS Tl o
Q.Na: 55 Death keeps no calendar. e

Conclusions: L Tt %1 U@ A mRAT 31

1. Everyone has to die one day. 11. gg Teft i) o1 gart 81

II. Death is a remedy for all ills.
A either (I) or (II) follows WA LA SATERT DLl &
B only conclusion (II) follows Had HYF 11 SITHUT DT %
C only conclusion (I) follows SIq FU 1 eﬁmwrm?n%
D neither (I) nor (II) follows T I € I SR B §

In some quantity of ghee, 60% is pure ghee and 40% is vanaspati. if 20 kg of pure ghee is FS A T 6, 60% T © 3R 40% Tl o g1
Q.No: 56 added, then the strength of vanaspati ghee becomes 20%. the original quantity was? e 20 el Y ot e Siren @, o et ot Y A7E 20% 8 o €1 99 qe
A 20 kg 20 foreitma
B 15 kg 15 fem
C 25 kg 25 et
D 10 kg 10 fraam
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Q.No: 57 The speed of a train is 75km/h. The distance covered by the train in 6 seconds is : TF & Bt 1 75 faefly/eier §1 87 gR1 6 ¥ B a9 B TS gl 7

A 120 m 120 Hte®
B 100 m 100 tex
c 125 m 125 Hiex
D 130 m 130 Hiex

If there is 50% increase in an amount in 5 years due to simple interest, then what will be the g 5 Iuf ® TP R H WURY A | 50% F gi Tt 7, O I &R W 2 Juf i

Q.No: 58 compound interest on Rs 30000 after 2 years at the same rate? ﬂﬁ@aﬂ\—ﬂ fa g

A Rs 7200 7200 393

B Rs 5200 5200 9

c Rs 6300 6300 37

D Rs 4500 4500 ¥94

Q.No: 59 Income ratio of A‘and B is 1:4 and their expenditure ratio is 2:5. If A saves Rs. 5000 & B saves A 3R B B 31T BT S{UId 1: 4 H @TWWW 3{qUld 2: 5 g1 3f& A 5000
Rs. 35000, then find the income (in rupees) of A. 35,000 IUY TGN § d A B 3 (¥ ) I S|

A 45000 45000

B 23000 23000

C 15000 15000

D 60000 60000

Mohit secured 70% marks in PCS exam and the cutoff was 10 marks more, while Darshan scored 3 e & 70% 3 UIE RRU SR PESE 10 3 ST &

. 0 i X o K K
Q.No: 60 80 /o. marks in t.he same exam and scored 15 marks more than the cut-off. So what were the oI T 5 IR BetE § 15 31 St I Rl A 99 e 7 I o 9
passing marks in that exam?

A 200 200

B 190 190

C 185 185

D 180 180

Q.No: 61 If 0.25 is x% of 2.5 then the value of x is & 0.25, 2.5 BT x% §, AN x FTAA §

A 9 9

B 3 3

C 10 10

D 30 30

Q.No: 62 The difference between a number andits two — fifthis 510.whatis 10% of that number? & TBT 3R SUF 2/5 1T F §19 1 SkR 510 21 IH IS FT 10% T 82
A 105 105

B 85 85

C 95 95

D 75 75

Q.No: 63 252:;255.10 erasers for rupees 12 and sells them at 8 for rupees 15. Find the gain or loss T TS 12 3 10 Wm% IR s @3 15 T & A9 21 a
A 30.125% 30.125%

B 40.15% 40.15%

C 25.125% 25.125%

D 56.25% 56.25%

Q.No: 64 At what rate of compound interest per annum, a sum of Rs 1200 becomes Rs 1348.32 in 2 years? Ufday¥ Ishqfe ST 3 fbd aX & 1200 98 3} M 2 I H 1348.32 FW A ©

A

B
C
D

4

2
8
6

4
2
8
6
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Q.No: 67

O 0O o

Q.No: 68
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Q.No: 69
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Q.No: 70

o o0 w

Q.No: 71
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What should come in place of the question mark (?) in the following question? fefertm sor 7 wr e () % &7

12+ 2% 62 +58=7
3 5 8 2

128
7
138
7

132
3

None of the given options

Radha eams 22% of her investment.
If she earns Rs 187, then how much did she invest?

850
950
700
650

50% of a number is 18 less than two-third of that number. Find the number?
115
123
119
108

Find the smallest positive number, when subtracted from both the terms of 8 : 9 gives a ratio
less than 10 : 13,

2

6
5
3

A face cream with an MRP of Rs 160 is available for Rs 154 in a promotion. If the shopkeeper
still makes a profit of 10%, what is the cost price of the face cream?

Rs.140
Rs.120
Rs.138.6
Rs.145.45

In what time will Rs. 32 becomes Rs. 41 at 25/4% per annum simple interest?
5 years

8 years

4.5 years

6 years

If red is called yellow, yellow is called orange, orange is called pink, pink is called green, green is

called purple and purple is called black. Then what is the colour of a leaf?
Purple
Black

Green

12442 %62 +55=2
3 5 8 2

128
7
138
7

132
3
o e e ¥ A 918 T8

eT 39 a2 BT 229 FARCA 51

g a8 187 ST HAN &, A1 S a1 faw e
850

950

700

650

TF AR BT 50% 39 GBI & 31 faers A 18 HH § | IS &1 Ial amg?
115
123
119
108

T BT YATHS TR 1 B, P o1 8:9 F I ISk § T ST § @

2
6
5
3

% TER 160 FUY B qHAR areht 9 B0 154 FUF F Iuew 1
I gFER R 1t 10% 1 a1 FAI 8, A B9 P 51 H7 Ged R 32

Rs.140
Rs.120
Rs.138.6
Rs.145.45

25/4% Wfd 9 WYRY A1 & &R § 32 T b aa H 41 FUd &1 S
5 years

8 years

4.5 years

6 years

g @l Bl diall 71 S, WS B AR Bl §Y, TN B T[errelt ST S, Terrst
FET 9T SR ST HY FIe Hel Y| J TH Tt BT 3 B4 giam g2

Frh
T
Gl
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24

D Pink

Which two signs should be interchanged to make the given equation correct?

65+ 2-25+5x12=137

Q.No: 72

A +and x
B +and +
C + and X
D +and -

Q.No: 73 At what time between 6 to 7 O’ clock minute and hour hand will coincide?

BIGIE
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feu Tu TR B T §M ¥ R o 9 Rl B 3o | e S =g

65+2-25+5x12=137

= R x
= IR+
+ R x
= IR -

6 ¥ 7 T ¥ 19 frg wmy fme ok @2 ot g we O gnfie

S 5
B 6: 43 6:43~
6:38= 6:38=
C 0% °°1
8
-32= o Jaul
b 6:32 6:32

Which of the following cube in the answer figure cannot be made based on the unfolded cube in
the question figure?

IR aMgfa § Fuffed & § S 9199 Uy oipfa H G 99 & SMUR W e s

Tinku
Tinku
Q.No: 74 Anil Monu Sonu
Anil Monu Sonu
Geeta Sorav
Geeta Sorav
A II
B I|
C I|
D I|
If 4 i i 25 mi i ' clock, i is i il ! o :
Q.No: 75 doc(l)(?mlnutes ago, it was 25 minutes past five O’ clock, how many minutes is it until seven O I 40 ﬁtﬁ.’q’b’ﬁ, o 25 fi T Q, A U 99 A e P a9 22
A 35 35
25 25

C 55 55
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Q.No: 76

o 0w

Q.No: 77

o 0O @ >

Q.No: 78

o 0O @ »

Q.No: 79

o 0O @ >

Q.No: 80

o 0O ®w »

Q.No: 81

o 0 w

Q.No: 82

o 0O w >

45

If FATHER = 7 and DAUGHTER = 9, then DISTANT =
8

6

7

10

B

If "—‘means ‘+’, ‘+ 'means "X‘, 'x‘means *+‘and ’+‘means -‘, then

40+30-20%x8+2=7
15
05
12
20

Find the next term in the series.
ZA, UF, QJ, ?, LO

PM

NJ

oM

NM

In the following equation, select correct combination of mathematical signs to replace A and

balance the equation.

187 A 136 A32A61A17

GET IT ON

Google Play

45

I FATHER = 7 9IR DAUGHTER = 9, & DISTANT =
8

6

7

10

e = FTHT +, + FTAT >, FIHT =, 3R+ FTag -,
40+30-20x8+2="7

15

05

12

20

R BT STl UG I DR
ZA, UF, QJ, ?, LO

PM

NJ

oM

NM

FrafaRed Tfieo §,
A T TR Fe ok Tefieneur &1 g X & forg R gt & wet s

187 A 136 A32A61A17

If cow is called sparrow, sparrow is called hen, hen is called peacock, peacock is called cock, cock afg TR &I 7T Fgl S, TRAT B 7l FgT oY, THif 1 IR Fel A, 2R & J

is called eagle and eagle is called nightingale. Which one of the following is a national bird?

Nightingale
Cock
Peacock

Hen

What was the day of week on 2 October 1869?
Monday

Sunday

Saturday

Friday

Which one word can be formed from the following letters?
rol ech b a

bachelor

cobbler

partner

daughter

SY 3R i BT Piferen Fe1 el Fefifew ¥ § B w g el 32

2 AR 1869 FT UG HT B I fa U1?
HHaR
R
TfFER

ThAR

Fofifed sierl § $1H-91 1@ Wsg ST S Tl 82
rol e ch b a

bachelor

cobbler

partner

daughter
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Q.No: 83 If the day before yesterday was Friday, what day will two days after the day after tomorrow be?

A

B
C
D

Q.No: 84

o o0 m >

Q.No: 85

o 0o w >

Q.No: 86

o 0 m

Q.No: 87

o 0O @ »

Q.No: 88

Sunday
Thursday
Saturday
Friday

GET IT ON

Google Play

e ol 1 7 Pepar o, @ W& & <) e s1g dH-a e e
fEr

PR
ER

TPAR

In a certain code ‘GIVE' is written as "VIEG’ and ‘OVER' is written as ‘EVRO’. How will ‘DISK’ be &t e & ‘GIVE’ &1 "VIEG' ¥ w0 ¥ foral @l & 3R "OVER’ &1 'EVRO’ & ¥

written in that code?
KDSI
KISD
SIKD
SIDK

Arrange the following words as per order in the dictionary.

(1) Host

(2) Haphazard
(3) Haste

(4) Hang

(5) Handkerchief
54,23,1
3,2,1,5,4
4,3,2,1,5

54,2,1,3

Find the lowest common multiple of 15, 35 and 55.
1155
1165
1122
1144

On adding 4116 to the greatest three-digit number, it will be completely divisible by 9, 15, 16,

and 20. Find out the number.
924
920
824
974

I ge # 'DISK’ B FY fordi?
KDSI
KISD
SIKD
SIDK

Frofifd el &1 T 7 faw 7 wA % oger fafee?
(1) Host

(2) Haphazard

(3) Haste

(4) Hang

(5) Handkerchief

5,4,2,3,1

3,2,1,5,4

4,3,2,1,5

54213

15, 35 3R 55 &1 Yo Bl T4 0 G Bl
1155
1165
1122
1144

4116 P! TN T 9 Sl BT Tem F ST W TG 9, 15, 16 3R 20 J gufar f
Ediiy

924
920
824
974
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